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2. 
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3. 
This is a completely closed book examination.  During the exam, you may not consult any materials besides the examination itself and notes you write on scrap paper during the administration of the exam. 

4.
You have seventy minutes to complete your work on this exam.  

5.
The exam consists of twenty-four multiple choice questions. You must mark your answers to these questions on the Scan-Tron sheets provided during the exam.  Answers marked on this examination booklet or on scrap paper will not count. 

6.
Each question has only one correct answer.  You will receive credit for each question for which the correct answer is the only one marked on the Scan-Tron sheet.  You will receive zero credit for any question where no answers are marked, where more than one answer is marked, or where an incorrect answer is the only one marked. 

7.
In the appropriate section of the Scan-Tron sheet, write your anonymous grading number and bubble in the corresponding numbers underneath.  Do not write your name or your social security or C number on the Scan-Tron sheet, the examination booklet, or the scrap paper.

8.
Please take the time to read the questions and possible answers carefully.  As you know, slight differences in wording and punctuation can make an enormous difference in the proper interpretation of the grants we have studied.

9.
Good Luck!

(1) Which of the following was true “at common law”?
(a) The Doctrine of Destructibility of Contingent Remainders applied.
(b) The default present possessory estate was the life estate.

(c) Courts recognized the estate of fee tail.

(d) All of the above.
(2) Which of the following is true in all American jurisdictions today?

(a) The language, “To Stephanie for her support and benefit” creates a life estate in Stephanie. 

(b) Possibilities of reverter are only transferable by inheritance unless released to the holder of the underlying fee. 

(c) It is unnecessary to use the language “and X’s heirs” to create a fee simple absolute.  

 (d) All of the above. 

Question 3 is based on the following information:

In 2014, Kyle conveys Booth-Acre “to Lauren for life, then to Mallory and her heirs, but if Mallory does not give Lauren a proper funeral, to Nicolle and her heirs.  
(3) At the time of the grant, what interest does Mallory have?

(a) Contingent remainder.
(b) Shifting executory interest.
(c) Vested remainder subject to divestment.
(d) Vested remainder in fee simple on executory limitation.
Questions 4-7 are based on the following information:

Alex operated a very successful farm on Smith-Acre where he raised valuable chinchillas.  Eric, his manager for many years, lived on the farm. In 2005, Alex died leaving a valid will that said: “I leave Smith-Acre to Eric so he always has a place to live, but if Eric ever uses Smith-Acre for something other than a chinchilla farm, to Eric’s children then living and their heirs.  I leave all my other property to the McGlashen Corporation.”

(4) Which of the following arguments supports a claim that Eric’s interest is a defeasible fee simple (rather than a defeasible life estate)?

(a)  The presumption that a will disposes of all of the testator’s property. 

(b) The presumption that, absent clear evidence of intent to the contrary, an interest is a fee simple.  

(c)
 The condition regarding the chinchilla farm restricts Eric, not Eric’s heirs. 

(d) All of the above.

(5) Which of the following arguments supports a claim that Eric’s interest is a defeasible life estate (rather than a defeasible fee simple)?

(a) The grantor used “and his heirs” when he wanted to create a future interest in fee simple in Eric’s children.

(b) The grantor’s use of the word “but” rather than “then” (to introduce Eric’s children’s interest) suggests that the interest is a remainder rather than an executory interest. 

(c)  The future interest in Eric’s children suggests that Alex wanted Smith-acre to remain in Eric’s family.
(d) All of the above.

Questions 6-7 are based on the same information as Questions 4-5, which is repeated below, and the additional information in the following paragraph
Alex operated a very successful farm on Smith-Acre where he raised valuable chinchillas.  Eric, his manager for many years, lived on the farm. In 2005, Alex died leaving a valid will that said: “I leave Smith-Acre to Eric so he always has a place to live, but if Eric ever uses Smith-Acre for something than a chinchilla farm, to Eric’s children then living and their heirs.  I leave all my other property to the McGlashen Corporation.”
In 2012, without reducing his chinchilla breeding operations, Eric built a large parking lot and a small visitor’s center on Smith-Acre. Since that time, he has charged visitors to tour the facilities of the chinchilla farm.  In 2017, Eric has two living children, Scott and Tony. 
(6) All of the following arguments are relevant to a determination of whether Eric has violated the condition in Alex’s will, except:

(a)  Scott and Tony have made no attempt to take ownership of Smith-Acre.

(b) The parking lot and visitor’s center are not ordinarily part of chinchilla farming, so Eric is literally using those areas for “something other than a chinchilla farm. 

(c) When alive, Alex had repeatedly rejected Eric’s suggestion that Alex open the farm to visitors .
(d) Allowing people to view its operation doesn’t make Smith-acre any less a chinchilla farm.  

(7) In 2017, one of your clients wants to purchase Smith-Acre as part of a project to build a large industrial park.  Which of the following would be useful advice to your client or useful steps to take on your client’s behalf?
(a)  Because the condition can only be violated by Eric himself, there is no need for your client to acquire the future interest in “Eric’s children.”
(b) You should, on your client’s behalf, determine if the McGlashen Corporation has transferred any rights it may have had to Smith-Acre.

(c) Acquiring all rights from Scott and Tony would be insufficient to fully purchase the future interest in “Eric’s children” because Eric could always father or adopt additional children.

(d) You should, on your client’s behalf, determine in what ways  possibilities of reverter are transferable in the state where Smith-acre is located.

Question 8 is based on the following information:

Dan conveys Gray-Acre "to Edgar for 10 years, then to Freddy forever."  Five years later Freddy dies, leaving all his property to his friend Jen in a valid will.
(8) Assume that ten years after the date of the original conveyance, Dan, Edgar, and Jen are all still alive. At that point, who owns Gray-Acre?

(a) Jen, if the problem takes place “at common law.”

(b) Ryan’s heirs, if the problem takes place today.

(c) Dan, if the problem takes place “at common law.”

(d) Dan, if the problem takes place today.

Question 9 is based on the following information:

Rohan conveys Mac-Acre "to Sydney for life, then to Sydney’s widower and his heirs.”

(9) At the time of the grant, what is the widower’s interest?

(a) Vested remainder, if Sydney is married.
(b) Contingent remainder, if Sydney is married.
(c) Vested remainder, if Sydney is unmarried.
(d) None of the above.

Question 10 is based on the following information:

In 1999, Riana conveys Post-Acre “to Samantha for life, then to Yujia and her heirs, but if Samantha is survived by any children, then to such surviving children and their heirs.” In 2016, Samantha’s only child Vincent died intestate, leaving a surviving spouse as his sole heir.
(10) After Vincent’s death, which interest exists if Riana, Samantha and Yujia are all still alive?
(a) Vincent’s surviving spouse has a vested remainder subject to open.

(b) Vincent’s surviving spouse has a shifting executory interest.

(c) Yujia has a vested remainder subject to divestment.

(d) Riana has a reversion.
Questions 11-14 are based on the following grant:

In 2015, Adrienne, while alive, grants Stone-Acre “to my daughter Cecilia and her heirs on the condition that she periodically attend a Methodist Church service, and if at least three months pass in which she fails to so attend, the property is to be retaken.”

(11) Assuming the condition is valid, all of the following arguments support characterizing Cecilia’s interest as a fee simple determinable (as opposed to a fee simple on condition subsequent) except: 

(a) It will be relatively easy to determine whether or not Cecilia attended a Methodist Church service during any three month period.  

(b) There is a condition in the first clause of the grant.

(c) The phrase “is to be retaken” suggests that the future interest holder has no discretion about whether to act.

(d) The grant appears to be an attempt to punish the grantee for not adhering to the condition, as opposed to ensuring that the property is used for a particular purpose.  

(12) Assuming the condition is valid, all of the following arguments support characterizing Cecilia’s interest as a fee simple on condition subsequent (as opposed to a fee simple determinable) except: 

(a) Because Adrienne was alive at the time of the grant, she must have intended to exercise discretion as to whether to retake Stone-Acre. 

(b) Most states have a presumption in favor of the fee simple on condition subsequent. 

(c) The grant is structured in two parts.

(d) The grant uses the phrase “on condition that” as opposed to language related to time passing.

Questions 13-14 are based on the same grant as Questions 11-12, which is repeated below.

In 2015, Adrienne, while alive, grants Stone-Acre “to my daughter Cecilia & her heirs on the condition that she periodically attend a Methodist Church service, and if at least three months pass in which she fails to so attend, the property is to be retaken.”

(13) Which of the following arguments support finding the condition void as against public policy?

(a)  The grant does not create a “gift over.”  

(b)  There are only three Methodist Churches within driving distance of Stone-Acre.  

(c)  Cecilia does not share her mother’s Methodist religious beliefs and so having to actually attend the religious service is a particularly great imposition on her religious freedom.  

(d) All of the above.

(14) Which of the following arguments support finding the condition valid and enforceable?

(a) If Cecilia does not want to adhere to the condition, she need not accept the gift. 

(b) Adrienne has strong religious beliefs and encouraging the continuation of her religious legacy should be seen as a legitimate interest. 

(c) The time and effort required to attend a ninety-minute service once every three months is not unduly burdensome. 

(d) All of the above.

Question 15 is based on the following information:  

Max grants Lucky-acre:  “To Parker for life, then to Rebecca and her heirs if she turns 21 before Parker’s death, but if she does not, then to Sara and her heirs.” 

(15) In a state that does not destroy contingent remainders, which of the following interests would exist if Parker died when Rebecca was 16 years old?
(a) Springing executory interest in fee simple in Rebecca.

(b) Fee simple absolute in Max.
(c) Fee simple absolute in Sara.
(d) Shifting executory interest in fee simple in Sara.
Questions 16-17 are based on the following information: 

In her valid will, Andrea grants Gross-Acre “to Dillon for life, then to Marc and his heirs, but if my daughter Elizabeth marries an actor, to Elizabeth and her heirs.”  

(16)  Which of the following facts would be relevant to determine whether Dillon’s interest is best characterized as a life estate on executory limitation?: 

 (a) Andrea repeatedly expressed concern that if Elizabeth (who was an actress herself) married one of her actor friends, Elizabeth would starve to death. 

(b) Dillon is 81 years old and in poor health. 
(c) The grant to Elizabeth does not include the word “then.”  

(d) All of the above. 

(17)  If the condition that Elizabeth marry an actor is challenged as being against public policy, which of the following points support reaching a different result in this case than that reached by the court in Shapira?  

(a)  Andrea has no duty to provide for her adult children at all, so she should be allowed to put nearly any restrictions she wants on her gifts.
(b)  At the time Andrea died, Elizabeth was engaged to be married to a lawyer whom Andrea despised.  

(c) There are thousands of aspiring actors residing in the city where Elizabeth lives. 

(d) All of the above.

Questions 18-21 are based on the following information:

In 1985, Aaron granted Roman-acre “to Brandon for life, then to Brandon’s children, but if Brandon is not survived by any children, then to Cody and his heirs.”  At the time, Brandon had no children.  
In 1987, Brandon has a child, Diego. In 2017, Diego dies leaving all his property in a valid will to the Mormann-Dawson Foundation. At that time, Brandon is still alive but has no other children.
(18) In 1985, the interest in Brandon’s children is a

(a) Vested remainder subject to open.

(b) Vested remainder subject to divestment.

(c) Contingent remainder.

(d) Contingent remainder subject to divestment.

(19) In 1985, the interest in Cody and his heirs is a

(a) Vested remainder.

(b) Contingent remainder.

(c) Shifting executory interest.

(d) Springing executory interest.

 (20)  When Diego is born, which of the following is then correct?

(a) Aaron’s reversion divests.

(b) Cody’s interest fails.

(c) Diego has a contingent remainder.

(d) Diego has a vested remainder in fee simple on executory limitation.

(21)  When Diego dies, what happens to his interest?

(a) It is destroyed.

(b) It passes to the Mormann-Dawson Foundation.

(c) It passes to his heirs.

(d) None of the above.  

Question 22 is based on the following information:  

In her valid will in 2011, Jessica grants Braun-acre:  “To Matthew for life, then to my children for their lives, then to Matthew’s oldest child to survive him.”

(22) Which of the following interests is created by the grant? 

(a) Contingent remainder in life estate in Jessica’s children if there are none alive at the time of the grant. 
(b) Contingent remainder in Matthew’s oldest child to survive him.  

(c) Vested remainder in life estate subject to open in Jessica’s children if any are alive at the time of the grant 

(d) All of the above. 
Question 23 is based on the following information:  

In 2015, Arturo grants Hill-acre “to Phil and his heirs, but if Phil does not open a gambling casino on the property, Steven can enter and take Hill-acre.”

(23) At the time of the grant, Phil has 

(a) A fee simple on condition subsequent, if operating a gambling casino is legal in the jurisdiction.  

(b) A fee simple absolute, if operating a gambling casino is not legal in the jurisdiction.  

(c) A vested remainder in fee simple on executory limitation, if operating a gambling casino is legal in the jurisdiction. 
(d) Nothing, if operating a gambling casino is not legal in the jurisdiction.
(24) Which of the following future interests is not initially held by a grantee?

(a) Vested remainder in fee simple determinable.

(b) Contingent remainder in life estate.

(c) Possibility of reverter.

(d) Springing executory interest.
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